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deg (f(x)g(x)) = deg f(x) + deg g(x)
0000000000000 0000000000000000

1.2 OO0
000 f(z), g(z) (000 g(z)£0)0 00000000
flx)=q(z)g(z)+r(x), r(r)=0 000 degr(xz)<degg(z)

0000000 g(z),r(x) D00000000Oq(z),7r(z) 00000 f(z) 0 g(z) 0000
obooboon

r(z)=00000f(x)0 ¢g(x) O000000Og(x) 0 f(x) DO0OO000g(x) O f(x) OO
000000000 0g(x)|f(x) 00000000

1.3 Uouououod
flz) 02— 000000000 ¢(x),r 00000

fx)=q(z)(x —a)+r
O0000x=e 000000
fla)=r.
O000f(zx)0 2—e 0000000 f(e)OOOMMOOOOOOOODOO

O0000f(z)0 x—e0000000000000000 f(e)=00000D00O0O0OO
oboobooobod

000D 100000000000000 (polynomial) 0000
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1.4 0000 (z—e) 00000

¢ 00000000 z-e«00000000000
000 fx)=23+22%+32+40 (x—1)0000000000000000

001 y=2x-100000x=y+1000000

2?42 +3z+4 = (y+1)P°+20y+1)*+3(y+1) +4
= Y¥*+31+3y+1
+2y? + 4y + 2
+3y + 3
+4

=y’ +5y° + 10y + 10
= (v —1*+5(x—1)>+10(z — 1) + 10.

002 x=10000 Taylr 0000030000000 fW)=0000000000
obg4000000 0000000

f‘/// ( 1)

fla)=f1)+ f)—1)+ @—1V+—§—@—1ﬁ

0oo f(1)=1, f/(1)=10, f/(1)=10, f”(1)=6 000000000

/)
2

b3 z—-10000000000000O0DOOO0O0O0OOO0

1 2 3 4
1 1 3 6
1 3 6 [10]
1 1 4
1 4 |10]
1 1
0000 2*+222+3z+4=(z—1)>3+5(zx—-1)?+10z—-1)+100000000
2 +20°+3r+4 = (22432 +6)(z — 1) + 10,
2 +3x+6 = (v+4)(r—1)+10,
r+4 = (x—1)+5.
OooooO

2 +32+6 = (z—1)+5)(x—1)+10= (v —1)* + 5(x — 1) + 10,
2 +20° +3z+4 = (((z—1)+5)(z—1)+10= [(z —1)*+5(z — 1) + 10] (z — 1) + 10
= (v —1*+5(x—1)>+10(x — 1) + 10.
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1.5 0000

a0 f() 00000000 —a)|f(x) 000000000000000000000
fla)=0,000 ¢« 0000 f(z)=000000000000000

a0 flx) 0 mO000D0000(z—a)™|f(z) 000000000

a0 f(zx) 00000 mOO0O000000(x—a)™f(x) 00 (z—a)™™" ff(x) DO0DOO
guoodboobdd nU0 o D0OOOOOOO
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00 1.1 a O f(x)[] mOdO000O000O0000
fla)=f(a)=--= " V(a)=0
ddooooooodd o d f(x)DDDDD mUdO0OO04OdOdOoooag
fla)=fa)=-=f"V(a)=0, f™(a)#0
dgoooogdoaoodg
Y,

00 (000)aeO f()0 mOO0O00000000 ¢z 0000
f(@) =(z —a)"q(x)
000000 Leibniz 000000

w =3 (") (£) oy

J
n§m—1DDDDDDj§m—1DDDDDEW%V@—@mD(WﬂUDDDDDDDx:a
D00O0D0DD 00000000

f™a)=0 (0<n<m-—1).
(000)00000000m=100000000000000m000000OOO0O0
000 f(x) O
fla)=fa)="---= " D(a) = [ (a) = 0
00000000000 00000 (z—-e)™f(z) 000000000 q(x) 0000
f(@) = (= a)"q(x).
0ooo
" /m d\’ ,
f(m)(x) — Z (j) (%) (z — a)mq(m—J)(x)
000000
F(a) = mlg(a).
000 ¢gle)=0000000000003¢(x) s.t. ¢g(x)=(zr—a)g(z). 00O
f(@) = (z = a)"q(z) = (z — a)""'q(2).

000 f(z) O (x—a)™ 00000000000 m+10000000000000000O
gbobbuoooobbbuoooobbbdod m
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00 11 (0000000000, Gauss) neNOOOOOOOOOO nOD0OOOOO
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Johann Carl Friedrich Gauss (1777-1855) 0 0 00000000000 O0OOO (1799) O
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10000 ax+b=0(a#0) 000 2= —b/a.
20000 az?+br+c=0(a£0) 000

 —b= Vb? — 4dac
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O000000oooo (e,b,c)0000000DOD0OCOO0OOODOOOOOODOOOOO
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000 A=a+if (a0, 3000)00A4000000022=A0000000 (AO0O
00)000000000000000000000004=0(0000 A000)00
0000000000000000000 8400000z2z=a+4y (z,y<c€R) 000
0022=(2—4y?)+2izy 000000:2=A0000000000

-y =a, 2zy=270.

000000000 y=4/(20) 000000000
2
2 BT _
VTR

Oo0on
4t — daa® — 32 = 0.

00000 20000000

2 _ 200 + \/4a? + 432 _ a+/a? + (32
4 2 .

X

»>00000000000000000000

s a+y/a?+ [?
— . ,

X

g#F00000000DOODOOOOOOODOO

3 32
x:i\/a—i- (;—i—ﬂ,

_ B s 1
y=

2 iﬂ\/&jL a? + (3
N J
goddoobobobobobbb3dbuudu4ooobbobbbobobbbooog sbb
O000000000000000000 - 0000000000000000000000
0000000 (Abel3-Galois*)O
00000000000000 B|oo000000ooooooooooo
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000000000000000000 1000000000000000000000
0000000000a+i8 (e, 300000B£0)0000000000000 a—iB0
00000000 200000000 200000000000000000000000

3Niels Henrik Abel (1802-1829, 0 0000000000000 DOOOONO).
4Evariste Galois (1811-1832, 00 000000000000 OOO).
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00 1.1 f(z) 00ODO0OOOOO0O0O0OODODOOOOO AODOOOO

F) = f(N).

00 MND f(x) 00000 ANOOODODODO0OO0OO0OOOOOOODD (000 ADOOOO

mO00000AN00000 mOO0000)0
o %

00 fA) =aA"+a A" 44 ap 1 A4a, (a; 000,00 £0)00000a =a; D00
000

FO) = ap " +Fa AT+ a, N+ ay,
= G\ TN e T T
= aN N+ an N+ a,
= ().
0ooo
A0 f(z) 00 < fA)=0 & fAN=0 < fN=0 < 0O f(x)00.
D00 AD f(z) 0000000000 mOOO0DOO

FO) = f(A) == fm D) =0, fMON)#£0
Ood

f)=fN)=-=fmDX)y=0, MR #£0
O0000000NDOOOOO mO00O0Om

A=a+if (a,6000)
0oooog
(=X (x=A) = [z—(a+if)[z—(a—if)] = [(z — a) +if][(z — a) = if]
= (z—a)*+ % =2 —2ax + (o + 7).

oo ooooboogbuogbuouobooonoboouobogbog
DDDDDDDDDDDDDDDD(DDDDDDDDDDDDD)D
googg
(x —N)" (a:—X)m: [(a:—a)2+ﬁ2}m
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2.2 Euclid 0000
p(z),q(x) 0000000000000 00OOO0 d(x)=GCD(p(x),q(x)) 00O
r(@)p(z) + s(z)q(z) = d(z)

0000000 r(z),s(s) 0000000
~0000 L d(x) 000

0000000000000degp(z) > degg(z) D000

fo(x) :==p(x), fi(z) =q(x) 0OO0
J=0,1,2--- 0000 fj(z) 0 fja(x) 000000 g4a(z), 000 fjo(x) 0000

1) fi(@) = qj1(2) f1(2) + fira(z),  deg fii2(z) <deg fiyi(z) ODODO  fio(x) =0.

000 deg folx) > deg fi(x) > deg fo(z) >--- 000000000003k >0s.t.
fer1(@) # 0, frya(z) =0.

00000000

(2) fer1() O fol2), fim(z) D0DDODOOODO.

000000 f(2), fi2(x) 00000 f(x) 000000000 f(x), f4(z) 000
00000000 f(z), f1(x) 00000 fa(2), fi2(z) 0000000000000
god

(3) p(z), q(x) 00000 fu(z), fisi(z) 0000DODOD.
k(2)[](:’))DDkaH(:C)Dp(:c),q(a:)DDDDDDDDDDDDDDDDDD )
(DDDDQ:T(:I:),S(:E)DDD ~

oogd

finn(@) \ _ (0 1 fi(z)
fj+2($) 1 —Qj+1(1’) fj+1($)
oooooooo

f@ N (o 1 0 1 (o 1 folz)
fori(@) )\ 1 —q(w) 1 —qp(z) 1 —q(x) filz) |

folz) = p(x), filr) =¢q(x) DODODOO0O0000d(z) = fin(z) = r(z)p(z)+s(x)q(z)
000000000000

J
r(z),s(zx) 00000000000000000000000000r(z),s(z) 00000
00000000000
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00 210000000000 f(z),9(x) 0000000000000 d(z) 000000

s(@)f(x) + t(x)g(z) = d(z)

0000 s(2), t(z) 0000000000 f(z), ¢(z) 0000000000000000
god
deg s(x) < degg(z), degt(zr) < deg f(z)
000000 r(z), s(x) 00000
N J
ggd o0ooon

s(r) = q(z)g(z) + so(z), degso(z) < degg(w),
r(z)f(z) +to(x), degto(z) < deg f(x)

~

—~
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~—
I

oooobooo

d(z) = s(x)f(x) +t(x)g(x) = (¢(x)g(x) + so(x)) f(2) + (r(z)f () + to(x)) g ()
t

(
o(@)f (@) +to(x)g(x) + (q(z) + r(z))f(z)g(x)
0000000 g)+r(z)=00000000
(q(z) +r(x)) f(2)g(x) = d(x) — so(x) f(x) — to(x)g(x)

00000000000000 g() +r(z) #0000 deg(g(z) +r(z)) >00000

S
= S

deg((q(x) +r(x)) f(x)g(z)) = deg(q(x) + r(x)) + deg(f(x)g(x)) > deg(f(x)g(x))
0000
deg (so(7) f(z)) = deg so(z) + deg f(z) < deg g(x) + deg f(x) = deg (f(z)g(x)),

deg (to(z)g(x)) = degto(r) + deg g(z) < deg f(x) + deg g(z) = deg (f(z)g(z)),
deg d(r) < min{deg f(z),degg(z)} < deg f(r) + deg g(x) = deg (f(x)g(x))
0000000000000 g(z)+r(z)=00000000

d(x) = so(x)f(x) +to(x)g(x), degso(x) < degg(x), degto(r) < deg f(z)m

2.3 Euclid 0000 (00O0O)

00O0f, g, h,p,qr0020000000000000000 f0000 degf 0000
00000000 0000000 f,¢y0000f0 ¢g000000000000 (f,9)0
0oooooo:

(f.9) :={h;f=fih,g=gh 0000000 f, 00000 }.



(f,y)OOODODOODOODODOO0O0O0O0O0O00O0fD g0OO0D0OOO0OODO (greatest common
divisor, GCD) 0 OO 0O

OO0 2200000000 o0000000 f,gODbUOOOODO ADOODOO

(f +hg,g9)=(f9)

00 pe(f+hg,g)00000f+hg=hp g=gp0000000"h,q 000000
0ooo

f=(+hg)—hg=hip—"h-gp=(h—hg)p
O0O0000pO fO0DOO0DOODODODOO pG(f,g).
00 pe(f,g) 00000 f=fip,g=gpO0000000 f1, 0000000000
f+hg=fip+h-gip=(f1+ha)p

000000p0 f+hg 0000000000000 pe(f+hgg). m

[D21DDDDDDjgm%mmmmmmfmgDDDDDDDrDDDD(ﬁwzqgmj

00 fO¢O0OO0O00OO00O ¢OO0O00 f=q¢g+r0000

(fi9)=(qg+r,g)=(r,9)=(g,r)m

-
00 21 (0000000000) 000 f,¢(£000000000000000 (0)—(2)
0000 d,r,s000000d0 f0 ¢00000D0000000

rf4+sg=d
gooooo

0) fo=/f, i=90000

(1) j=0,1,2,--- 00000 f,,, 0000000000000 ¢, f+.000000
fi+e=0000 0 k000020000

(2) d=f,,, 0DOOOO

(o)) ) )

0rs0000(000000000000(2,1)000 r,(2,2)000 sO000)0
N J

000000000 f,=000f,2#000 degfj 2 <degf;s D0000D00 2100

(f5s firr) = (@i fima + fira, fivn) = (fias fiv1) = (firn, fira)-
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000 000000000 degf; >degfo>--- 00000000000000000 kO
0000 fi#0(1<i<k+1), fil,=00000000

(f;g) = (f()?fl) = (f17f2) == (fkakarl) = (fk+1afk+2) = (d, 0)
= d000oOoooo.

0000000000 00b0obO0oDO00OdO0 fO g000D0OODOODODOOODODOODO
00 fj=qifj+1+ fir2 OO0

i\ _ (0 1 i
fj+2 I —gqj fj+1
ooooon

()= ()0 ) -0 ) () )=
) ()= () ) ()
()L

000 rf4+sg= fri1=d. m

— O

— O

i)

OO0 2.1 r,s0 degr<deggODO degs<degfO0O0D0O000OD0ODOOODOODOODOODOO
oooad

r=aqg+7r0, 5=qf+s0
0000000 rnf+seg=dl00000000O00O0O0O0 (DDD)D

3 Uugonbn

3.1 00O

gbbboodobobbboodobbboooobbbuooobn
0000000 g(x)/f(x) 000000000000 OOOOOODOOO

1. 000 ¢x) 00000 r(z)/f(x) DOOO: g(z)/f(x) =q(x) +r(z)/f(x)

2. 00 fz)0O0O0DODOODODODOOOO:

k k+£

(4) fla)= AT [ —a)™ [T [ —a)®+57]™

j=1 j=k+1
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3. 0000 r(z)/f(x) 000000000000:

k+¢

k
f(x) Z:c—a] Z +ﬁ2]

J=1 j= k+1

000 r(z) 000000000000 OOO

4 (@) /(x —aj)™, rj(x)/ [(x —a;)?+ 52]™ 00O

m;j

i ri(x) _ bjex + cjg
=1 a:—a] [(x_aj)2+ﬁyz]mj =1 [(m—aj)2+5ﬂ£

(ZB—CL]

00000000 ¢g(x)/f(x) DOOO0O0O0OO0OOOOOODO 30 400000000000
00000000 4)ooooooooo

mj k+£  my

k
~ -
z ZZ xijzj T Z Z sz e

j=1 ¢=1 j=k+1 £=1 x_O‘J +ﬁ]2:|

~

OO00000000o0o00000000000 aje, bje, ¢, 00000000

3.2 U0O0OOOODOOOOOO

000000 f(z), g(z) (000 fz)#£0)00000¢(@) 0 f(z) 000000000
q(z), r(x) 00O OO

9(z) _ a(@)f(z) +r(@) _ . (@)

@ fw Ty

000 20 %DDDDDDDDDDDDDDDDD(DDDDDDDDDDDDDDDD
X
000)o

33 (DOoOO00)0O0O0OoooooOoOoooDooooooo

00 3.1 (00000000000) fi(x), L@ O 0000000000000000
00000000000 r(z) 00000000 g(z), go(z) D000

r(z) _ 91() i 92()
h@)fe(z)  Al@) ~ folz)

O00000000000000000000000000000000 ¢1(x), g2(x) OO
oo

J

00 10 fiz), fo(x) 00000000000000 3y (z), he(z) st

hi(z) fi(z) + ha(z) fo(z) =
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000 r(z) 00000 fi(z)fo(z) 0OOO

r@@)(x)  r(@)hy(r) ()

fa() fi(x) fi(@) falz)

ooo
gi1(2) :=r(@)ha(2),  g2(2) = r(z)n(2)
0000
r(z) _ 91() 4 g2(7)
fi@)fo(z) i) fola)
000000000D00000000Oy;(x)0 f;(x) 000000000 g4(z), rj(z) 0O
Oooo

g9i(x) = q;(x) f;(x) + rj(z), degrj(z) < deg f;(x).

Hut (@) q(@)f;(x) +r5(x) ()
fix) fi(z) - filw) + 4l
g
@) _n@)  nl) oy )

f@) fo(z)  filz)  falz)
000 || 0o 00000000000 qu(2)+qo(z)=00000000000000

@) ) )

fil@)folz)  fi(z)  folx)

34 x—a,(r—a)+p200000

goo

goboboogaooboood

3.4.1 r(x)/(z—a)™

000 (140)00000

r(z) = aj(x —a)’
j=0
ogooogog
r(z) Tl (x —a)’ o a; " ay
= J = J —= Z zi =
_ m _ m _ m— _ V4 ¢ m—~{
G0 2 e—ar -0 ZG—a



3.4.2 r(x)/[(z—a)+ 54"

Qx):=(r—a)?+4 0000000 2000000002m—-10000000000

r(@) =) a;(x)Q(z)!, dega;(z) <1

3.5 UU

gbobooboboobobbooboobobbobooboboobooboboob
gboogbobuodgbobooobuoobbodoobbuodoboooobuoobbooobboobo
gbooboboooobbbooobooboboooobbobuoooooboo

4 U011 00000oooo

Leibniz (Gottfried Wilhelm Leibniz, 1646-1716) O 1702, 1703 000000 2000000
gboboboooobbbuoooobboooon

00 41 (000000000) 0000000000000 0000000Arctan 00
goooo

4.1 00O 41000

OO00D0D0000000oooooooooooog
A pT +q

(x—a)" [(x—a)®+p7]"

00000000000 000ooo0oooooooooo0oooooooooooooogog

gbooboooooobod
HEN

(A, a,p,q,a, fO0000OR,mO000)

-1 1
/ dx _J) n—1(zx—a)?! (n>1)

log |z — a (n=1).

/ pr+q A
[(z —a)? + 32"
Ooo0o0000z—-ao=wO0QOoOoooooooooo

/uD 100 Ju
(u2+62)n

13



obobboobooboobooboobobobobooboon

4 )
00 41 (1) b000,,0000000000

—1 1
_ 2 2\n—1
/ x dr — 2(n —1) (22 +v?)

202" 1
(@ ) 5 log(2? + b?) (n=1).

(n>1)

(2) b0 000000O0OOODDOO

1
I,=[| ———d ooon
/ @y )

gobooo

1 x n 2n—3 I (n>1)
2\ (2n—2) @2+t op—2 ) W
1Arctan <E> (n=1).

b b
\_ /

0o
(H)w=2>+0*0000000000000

(2) n=10000000000 (z=0btand 0DO0000O)On>1000001,,0000
obobooboobooboobon

L, — / (2% + 1) dr — / (2) - (@ + )" da

= z(2®*+ %) — /SL’ (1 =n)(2®+b*)7"(22) dz

x x?

= ————42n—-1) | ———=—d

(x2+b2)n71+ (TL )/(x2_|_b2>n x
2 2 12

_ ;H(n_w/mdw

(CC'2 + b2)n—1 (ZL’Q + b2)n
i
= m + 2(n — 1)(_[n_1 - bQIn).
goon
T
ERERN

xz

1
I = =Ty <(x2 T - 3)In_1> m
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1]oooo

00000000000000000000000000000 40000000
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1] 00 00,000000,0000000 (1966).
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3] 00 00,00000 0000,0000 (1965).

4] 00 0,0000000000,00000 (1992, 1992, 1994).
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